Econ 102

Fall 2004

Practice Questions 4
Readings:

Chapter 4, 5
Concepts:

GDP: A Definition
The expenditure approach to GDP 

Other approaches to GDP (The value-added approach, the factor payments approach)

Real versus Nominal GDP
Types of unemployment

Measuring unemployment

I. Multiple Choices:

1) Gross Domestic Product (GDP) is calculated by adding together 
a. The number of goods and services produced in the economy.
b. Money value of final goods and services.
c. Number of workers employed in national production.
d. All commodities but not services produced in the economy.
2) A real estate salesperson sells a house in 1999 that was built in 1990. How does this transaction get counted in the GDP statistics?
a. The price of the house and the real estate salesperson’s commission are both included in 1999’s GDP.

b. Neither the price of the house nor the commission is included in 1999’s GDP.

c. The real estate salesperson’s commission but not the price of the house is included in 1999’s GDP. 
d. The price of the house would be included in both 1990’s GDP and the GDP for 1999.

3) General Motors Corporation (a U.S.-based firm) produces a Saab vehicle in Sweden, and sells it in the United States. In which country’s GDP is it included?

a. Sweden and the United States.

b. The United States because it was sold there.

c. The United States because GM is a U.S. company.

d. Sweden because it was produced there.

4) In periods of generally rising prices,
a. real GDP will grow faster than nominal GDP.

b. nominal GDP will grow slower than real GDP.

c. real GDP will grow slower than nominal GDP.
d. real GDP and nominal GDP will grow at the same rate.
5) International per capita GDP comparisons are misleading when the countries being compared differ greatly in
a. the type of economic system each country uses to solve its economic problem.

b. the freedom of their election processes.

c. the percentage of economic activity that is transacted in organized markets.

d. the quantity of human and natural resources they possess.

6) Discouraged workers are included in the
a. labor force category.

b. unemployed category.

c. not in the labor force category.

d. employed category.

7) The use of automated teller machines (ATMs) has caused some bank tellers to lose their jobs. This is an example of
a. cyclical unemployment.

b. seasonal unemployment.

c. frictional unemployment.

d. structural unemployment.

8) Which of the following scenarios best illustrates the concept of cyclical unemployment
a. Grace loses her job because of new automated machinery
b. Sean quits his job to look for work that is more fun
c. Ellen quits looking for work because she doesn’t think she can find a suitable job
d. Marian loses her job because of a recession.
II. Problems:
1) How do the following events influence GDP?
a. Each of five mothers living in a neighborhood takes care of her pre-school child in her own home.
b. The mothers share the childcare work, each one taking all five children one day a week.
c. Four of the mothers pay the fifth to take care of their children five days a week (taking care, of course, to pay the required Social Security taxes!).
d. Mary buys a new car from a dealer for $20,000.

e. Dave sells Mary’s used car to a dealer for $7,000.
f. Dave sells his old car to a dealer for $6,000. The dealer washes it, lists it in the classified ads and on the dealer’s web page and the sells it to Mary for $8,000.

g.   A Japanese company builds a factory in Tennessee. (If this affects GDP, is it the Japanese or the American GDP?)

h.   A Japanese company buys stock in a Tennessee company.

i.    An earthquake destroys many structures in the business district of Santa Cruz, California. The structures are not rebuilt this year.

j.    An earthquake destroys much of Santa Cruz, and within a short time the city is rebuilt as it was before.
2) Which of the following items are included in GDP? For those items not included, explain why they are not included in GDP.
a.   Jane buys newly issued shares of stock in Macro.com, Inc.
b.   Ross buys a new pair of jeans at a local department store.

c.   Joey has his mustache trimmed at his hair salon.

d.   Rachel buys an antique chest at a resale shop.

e.   Monica makes her own pasta sauce in her apartment.

f.   Phoebe grows her own herbs on her apartment balcony.

g.  Michael travels to Austria and buys wine and cheese.
h.  IBM produced 10,000 personal computers in 2004 but half of them remain unsold at the end of the year. 

i.   A farmer’s product purchased by a restaurant to serve to customers.

3) The following outline provides a complete description of all economic activity in Trivialand for 2003. Compute GDP using both the expenditure approach and the factor payment approach.
1. There are thousands of farmers but only two big business firms in Trivialand: Specific Motors (an auto company) and Super Duper (a chain of food market). There is no government and no depreciation.

2. Specific Motors produced 1,000 small cars, which it sold at $6,000 each, and 100 trucks, which it sold at $8,000 each. Consumers bought 800 of the cars, and the remaining 200 cars were exported to the U.S. Super Duper bought all the trucks.

3. Sales at Super Duper markets amounted to $14 million, all of it sold to consumers.

4. All farmers in Trivialand are self – employed and sell all of their wares to Super Duper.

5. The costs incurred by all of Trivialand’s business were as follows.

	
	Specific Motors
	Super Duper
	Farmers

	Wages
	$3,800,000
	$4,500,000
	$0

	Interest
	100,000
	200,000
	700,000

	Rent
	200,000
	1,000,000
	2,000,000

	Purchase of food
	0
	7,000,000
	0


4) From the following table which describes a series of economic activities in a given year, calculate the value-added at each step of the economic activities and its contribution to GDP.

	Item
	Seller
	Buyer
	Price ($)
	Value added ($)

	Bushel of Soybeans
	Farmer
	Miller
	3
	

	Bag of soy meal
	Miller
	Factory
	4
	

	Gallon of soy sauce
	Factory
	Restaurant
	8
	

	Gallon of soy sauce used as seasoning
	Restaurant
	Consumers
	10
	


5) Fill in the following table. In other words, calculate the real GDP for each year using the CPIs. 
	
	CPI*
	Nominal GDP**
	Real GDP***

	1990
	130.7
	5803.2
	

	1991
	136.2
	5986.2
	

	1992
	140.3
	6318.9
	

	1993
	144.5
	6642.3
	

	1994
	148.2
	7054.3
	

	1995
	152.4
	7400.5
	

	1996
	156.9
	7813.2
	

	1997
	160.5
	8318.4
	

	1998
	163.0
	8781.5
	

	1999
	166.6
	9268.6
	

	
	
	
	


* 1982-1984 = 100
**, ***: in billions of dollars

Comment on why it is misleading to compare nominal GDP across years.  

6) The text lists four types of unemployment, structural, cyclical, frictional, or seasonal. Which type is each of the following?
a.
Adam quits his job in Minnesota because he is tired of the snow, drives to Arizona and looks for work.


b.
Chris is laid off from User Group, Inc., because demand for computers has fallen off in the current recession.


c.
Dan has 20 years experience as a loom operator in a textile mill, but the number of mills is declining and he cannot find one that is hiring loom operators.


d.
The day after classes end, most of the junior class at Central High go downtown to look for a summer job.


e.
Allen, a high school dropout, can find no openings for manual labor, and he is not qualified for any of the openings that do exist.


f.
Sheri has just graduated from secretarial school with strong word-processing skills, but as she looks for work she discovers that almost every business in town is laying off clerical staff. 

g.   Kara is a construction worker. Because of adverse weather during the winter, she has been laid off from her job. She is available for work and has even sought work with other construction companies.
7) The country of Ziponia uses the same method to calculate the employment rate as the U.S. Bureau of Labor Statistics uses. From the data below, find the employed, the unemployed, the labor force and Ziponia’s unemployment rate.

	Population
	100,000

	Under 16
	12,000

	Over 16
	

	In military service
	800

	In hospitals
	50

	In prison
	300

	Worked one hour or more in the previous four weeks
	65,000

	Searched for work during previous four weeks
	3,450

	
	
































